

Liouville Type Theorems for General Integral System with Negative Exponents

Zhao Liu, Lu Chen* and Xumin Wang

Abstract. In this paper, we establish a Liouville type theorem for the following integral system with negative exponents

$$\begin{cases} u(x) = \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy, & x \in \mathbb{R}^n, \\ v(x) = \int_{\mathbb{R}^n} |x - y|^\nu g(u, v)(y) dy, & x \in \mathbb{R}^n, \end{cases}$$

where $n \geq 1$, $\nu > 0$, and f, g are continuous functions defined on $\mathbb{R}_+ \times \mathbb{R}_+$. Under nature structure conditions on f and g , we classify each pair of positive solutions for above integral system by using the method of moving sphere in integral forms. Moreover, some other Liouville theorems are established for similar integral systems.

1. Introduction

In this paper, we consider the following integral system with negative exponents

$$(1.1) \quad \begin{cases} u(x) = \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy, & x \in \mathbb{R}^n, \\ v(x) = \int_{\mathbb{R}^n} |x - y|^\nu g(u, v)(y) dy, & x \in \mathbb{R}^n, \end{cases}$$

where $n \geq 1$, $\nu > 0$, and f, g are continuous functions defined on $\mathbb{R}_+ \times \mathbb{R}_+$. Our motivation for studying the integral system (1.1) stems from the study of the reversed Hardy-Littlewood-Sobolev inequalities and curvature problems from conformal geometry. For instance, a special case of system (1.1) is the integral system

$$(1.2) \quad \begin{cases} u(x) = \int_{\mathbb{R}^n} |x - y|^\nu v^{-p_1}(y) dy, & x \in \mathbb{R}^n, \\ v(x) = \int_{\mathbb{R}^n} |x - y|^\nu u^{-p_2}(y) dy, & x \in \mathbb{R}^n, \end{cases}$$

where $n \geq 1$, $\nu, p_1, p_2 > 0$.

Integral system (1.2) is closely related to the Euler-Lagrange equation for the extremals to the reversed Hardy-Littlewood-Sobolev inequality which was first introduced by Dou

Received April 24, 2017; Accepted August 21, 2017.

Communicated by Cheng-Hsiung Hsu.

2010 *Mathematics Subject Classification.* 45G15, 45M20.

Key words and phrases. integral system, Liouville type theorems, method of moving spheres.

The three authors were partly supported by grant from the NNSF of China (No. 11371056).

*Corresponding author.

and Zhu in [9]. In particular, for $p_1 = p_2 = (2n + \nu)/\nu$, they employed the method of moving spheres to show that every positive measurable solution of system (1.2) has the form

$$\begin{cases} u(x) = c_1(d + |x - x_0|^2)^{\nu/2}, & x \in \mathbb{R}^n, \\ v(x) = c_2(d + |x - x_0|^2)^{\nu/2}, & x \in \mathbb{R}^n, \end{cases}$$

where $x_0 \in \mathbb{R}^n$ is some point and c_1, c_2, d are positive constants.

This classification result is a crucial step in finding the best constant in the reversed Hardy-Littlewood-Sobolev inequality. For more Hardy-Littlewood-Sobolev inequalities and its reversed versions on the half space and on compact Riemannian manifolds and their applications to curvature problems, we refer the reader to [4, 6, 9, 11, 13, 19] and the references therein. Recently, Lei [14] considered system (1.2) and obtained necessary conditions for the existence of C^1 positive entire solutions as well as necessary and sufficient conditions for the scale invariance of the system with respect to certain energy functionals. In particular, if we set $u = v, f(u, v) = g(u, v) = u^{-p}, p > 0$, integral system (1.1) will degenerate into a single equation

$$(1.3) \quad u(x) = \int_{\mathbb{R}^n} |x - y|^\nu u^{-p}(y) dy.$$

The negative exponent of integral equation (1.3) was studied by Li in [15]. Li classified the positive solutions of (1.3) for $p = (2n + \nu)/\nu$. When $n = 3, \nu = 1$, Xu [20] proved that if u is a C^4 entire positive solution of integral equation (1.3), then $p = 7$ and u must take the form as $u(x) = c(1 + |x|^2)^{1/2}$ up to dilation and translation. Furthermore, Xu [21] proved that equation (1.3) has a C^1 positive solution if and only if $p = (2n + \nu)/\nu$. For more related results about integral system with negative exponents, we refer the reader to [5, 10, 18] and the references therein.

Similar to integral system (1.2), there is an integral system in \mathbb{R}^n ,

$$(1.4) \quad \begin{cases} u(x) = \int_{\mathbb{R}^n} \frac{v^{p_1}(y)}{|x-y|^{n-\alpha}} dy, & x \in \mathbb{R}^n, \\ v(x) = \int_{\mathbb{R}^n} \frac{u^{p_2}(y)}{|x-y|^{n-\alpha}} dy, & x \in \mathbb{R}^n, \end{cases}$$

where $0 < \alpha < n, 1 < p_1, p_2 < +\infty$ and $1/(p_1 + 1) + 1/(p_2 + 1) = (n - \alpha)/n$.

Chen, Li, Ou in [2] used the moving plane method in integral forms to prove that all the positive solutions are radially symmetric and monotonic decreasing about some point. Later, Hang [12] proved the same result by extending the exponent restriction to $\alpha/(n - \alpha) < p_1, p_2 < +\infty$. For $1/(p_1 + 1) + 1/(p_2 + 1) > (n - \alpha)/n$, Chen and Li in [1] proved the nonexistence of positive solutions to system (1.4) when $0 < p_1 \leq \alpha/(n - \alpha)$ or $0 < p_2 \leq \alpha/(n - \alpha)$. Dou, Qu and Han [7] discussed the nonexistence of positive solutions to integral system (1.4) with weighted functions. In particular, if $u = v$ and $p_1 = p_2$,

system (1.4) is reduced to an integral equation, and the classification of positive solutions is studied by Chen, Li and Ou [3] using the method of moving plane and Li [15] using the method of moving sphere, respectively. In 2013, Yu [22] established the Liouville type result for more general integral system.

Inspired by the above cited papers, the purpose of this paper is to establish the Liouville type theorem for integral system (1.1). Our main result can be stated as follows.

Theorem 1.1. *For $n \geq 1$, let $(u, v) \in C^1(\mathbb{R}^n) \times C^1(\mathbb{R}^n)$ be a pair of positive solutions of (1.1) and $f, g: [0, +\infty) \times [0, +\infty) \rightarrow \mathbb{R}$ are continuous satisfying*

- (i) *$f(s, t)$ and $g(s, t)$ are strictly decreasing in t for fixed s and strictly decreasing in s for fixed t ;*
- (ii) *there exist $\kappa_1, \theta_1 \geq 0$ satisfying $\kappa_1 + \theta_1 = (\nu + 2n)/\nu$ such that $f(s, t)s^{\kappa_1}t^{\theta_1}$ is non-decreasing in t for fixed s and non-decreasing in s for fixed t ;*
- (iii) *there exist $\kappa_2, \theta_2 \geq 0$ satisfying $\kappa_2 + \theta_2 = (\nu + 2n)/\nu$ such that $g(s, t)s^{\kappa_2}t^{\theta_2}$ is non-decreasing in t for fixed s and non-decreasing in s for fixed t .*

Then there exist positive constants m, l such that $f(s, t) = ms^{-\kappa_1}t^{-\theta_1}$, $g(s, t) = ls^{-\kappa_2}t^{-\theta_2}$ and $u(x), v(x)$ have the form of

$$u(x) = c_1(d + |x - x_0|^2)^{\nu/2}, \quad v(x) = c_2(d + |x - x_0|^2)^{\nu/2},$$

where $x_0 \in \mathbb{R}^n$ is some point and c_1, c_2, d are positive constants.

Remark 1.2. For $f(u, v) = u^{-p_1}v^{-p_2}$ and $g(u, v) = u^{-q_1}v^{-q_2}$, ($p_1 + p_2 = q_1 + q_2 = (\nu + 2n)/\nu$), Theorem 1.1 was established by Dou, Ren and Villavert in [8].

We also study a simpler problem

$$(1.5) \quad \begin{cases} u(x) = \int_{\mathbb{R}^n} |x - y|^\nu f(v(y)) dy, \\ v(x) = \int_{\mathbb{R}^n} |x - y|^\nu g(u(y)) dy, \end{cases}$$

where $n \geq 1$ and $\nu > 0$.

Our second result can be stated as follows.

Theorem 1.3. *For $n \geq 1$, let $(u, v) \in C^1(\mathbb{R}^n) \times C^1(\mathbb{R}^n)$ be a pair of positive solutions of (1.5) and $f, g: [0, +\infty) \rightarrow \mathbb{R}$ are continuous satisfying*

- (i) *$f(t)$ and $g(t)$ are strictly decreasing on $(0, +\infty)$ for variable t ;*
- (ii) *$f(t)t^{(\nu+2n)/\nu}$ and $g(t)t^{(\nu+2n)/\nu}$ are non-decreasing for variable t .*

Then there exist positive constants m, l such that $f(t) = mt^{-(\nu+2n)/\nu}$, $g(t) = lt^{-(\nu+2n)/\nu}$ and $u(x), v(x)$ have the form of

$$u(x) = c_1(d + |x - x_0|^2)^{\nu/2}, \quad v(x) = c_2(d + |x - x_0|^2)^{\nu/2},$$

where $x_0 \in \mathbb{R}^n$ is some point and c_1, c_2, d are positive constants.

Using the same technique, we can consider the more general system

$$(1.6) \quad \begin{cases} u(x) = \int_{\mathbb{R}^n} |x - y|^\nu \left(\sum_{i=1}^N f_i(u, v)(y) \right) dy, \\ v(x) = \int_{\mathbb{R}^n} |x - y|^\nu \left(\sum_{i=1}^N g_i(u, v)(y) \right) dy, \end{cases}$$

where $n \geq 1, N \geq 1$ and $\nu > 0$.

We have the similar result as Theorem 1.1.

Theorem 1.4. For $n \geq 1$, let $(u, v) \in C^1(\mathbb{R}^n) \times C^1(\mathbb{R}^n)$ be a pair of positive solutions of (1.6) and $f = \sum_{i=1}^N f_i, g = \sum_{i=1}^N g_i, f_i, g_i: [0, +\infty) \times [0, +\infty) \rightarrow \mathbb{R}$ are continuous satisfying

- (i) $f(s, t)$ and $g(s, t)$ are strictly decreasing in t for fixed s and strictly decreasing in s for fixed t ;
- (ii) there exist $\kappa_{1i}, \theta_{1i} \geq 0$ ($i = 1, 2, \dots, N$) satisfying $\kappa_{1i} + \theta_{1i} = (\nu + 2n)/\nu$ such that $f_i(s, t)s^{\kappa_{1i}}t^{\theta_{1i}}$ is non-decreasing in t for fixed s and non-decreasing in s for fixed t ;
- (iii) there exist $\kappa_{2i}, \theta_{2i} \geq 0$ ($i = 1, 2, \dots, N$) satisfying $\kappa_{2i} + \theta_{2i} = (\nu + 2n)/\nu$ such that $g_i(s, t)s^{\kappa_{2i}}t^{\theta_{2i}}$ is non-decreasing in t for fixed s and non-decreasing in s for fixed t .

Then there exist positive constants m_i, l_i ($i = 1, 2, \dots, N$) such that $f_i(s, t) = m_i s^{-\kappa_{1i}} t^{-\theta_{1i}}, g_i(s, t) = l_i s^{-\kappa_{2i}} t^{-\theta_{2i}}$ and $u(x), v(x)$ have the form of

$$u(x) = c_1(d + |x - x_0|^2)^{\nu/2}, \quad v(x) = c_2(d + |x - x_0|^2)^{\nu/2},$$

where $x_0 \in \mathbb{R}^n$ is some point and c_1, c_2, d are positive constants.

By slightly modifying our arguments in proving Theorem 1.1 for integral system (1.1), we can prove Theorems 1.3 and 1.4 and thus we omit their proofs.

Remark 1.5. In Theorems 1.1, 1.3 and 1.4, one can only assume that (u, v) is a pair of positive measurable solutions instead of C^1 positive solutions. In fact, by standard regularity lifting theory, one can verify that measurable solutions must be smooth (see [8, 15]).

2. Proof of Theorem 1.1

In this section, we use the method of moving spheres introduced by Li and Zhu in [17], which was later improved by Li and Zhang in [15, 16] to prove Theorem 1.1. We first prove the following lemma.

Lemma 2.1. *For $\nu > 0$, let $(u, v) \in C^1(\mathbb{R}^n) \times C^1(\mathbb{R}^n)$ be a pair of positive solutions of (1.1). Then*

$$\int_{\mathbb{R}^n} (1 + |y|^\nu) f(u, v)(y) dy < \infty, \quad \int_{\mathbb{R}^n} (1 + |y|^\nu) g(u, v)(y) dy < \infty,$$

and for some constant $C_1, C_2 \geq 1$,

$$(2.1) \quad \frac{1}{C_1}(1 + |x|^\nu) \leq u(x) \leq C_1(1 + |x|^\nu), \quad \frac{1}{C_2}(1 + |x|^\nu) \leq v(x) \leq C_2(1 + |x|^\nu).$$

Proof. We only prove

$$\int_{\mathbb{R}^n} (1 + |y|^\nu) f(u, v)(y) dy < \infty, \quad \frac{1}{C_1}(1 + |x|^\nu) \leq u(x) \leq C_1(1 + |x|^\nu).$$

We first show

$$(2.2) \quad \int_{\mathbb{R}^n} (1 + |y|^\nu) f(u, v)(y) dy < \infty.$$

One can write

$$\begin{aligned} \int_{\mathbb{R}^n} (1 + |y|^\nu) f(u, v)(y) dy &= \int_{|y| < 2} (1 + |y|^\nu) f(u, v)(y) dy + \int_{|y| \geq 2} (1 + |y|^\nu) f(u, v)(y) dy \\ &= I + II. \end{aligned}$$

For $|x| > 8$,

$$(2.3) \quad I = \int_{|y| < 2} (1 + |y|^\nu) f(u, v)(y) dy \leq C_\nu \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy = C_\nu u(x) < \infty.$$

For $|x| < 1/2$,

$$(2.4) \quad II = \int_{|y| \geq 2} (1 + |y|^\nu) f(u, v)(y) dy \leq C_\nu \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy = C_\nu u(x) < \infty.$$

Combining (2.3) and (2.4), we obtain (2.2).

Next, we show that

$$\frac{1}{C_1}(1 + |x|^\nu) \leq u(x) \leq C_1(1 + |x|^\nu), \quad \forall x \in \mathbb{R}^n.$$

By (2.2), we obtain

$$u(x) = \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy \leq C(1 + |x|^\nu) \int_{\mathbb{R}^n} (1 + |y|^\nu) f(u, v)(y) dy \leq C(1 + |x|^\nu).$$

When $|x| < 2$, we have

$$u(x) = \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy \geq \int_{|y|>8} |x - y|^\nu f(u, v)(y) dy \geq C(1 + |x|^\nu).$$

When $|x| \geq 2$, we have

$$u(x) = \int_{\mathbb{R}^n} |x - y|^\nu f(u, v)(y) dy \geq \int_{|y|<1} |x - y|^\nu f(u, v)(y) dy \geq C(1 + |x|^\nu).$$

Then we accomplish the proof of Lemma 2.1. □

Let u and v be positive functions in \mathbb{R}^n , for $x \in \mathbb{R}^n$ and $\lambda > 0$, we define

$$u_{x,\lambda}(y) = \left(\frac{|y - x|}{\lambda}\right)^\nu u(y^{x,\lambda}), \quad v_{x,\lambda}(y) = \left(\frac{|y - x|}{\lambda}\right)^\nu v(y^{x,\lambda}), \quad y \in \mathbb{R}^n,$$

where

$$y^{x,\lambda} = x + \frac{\lambda^2(y - x)}{|y - x|^2}.$$

Lemma 2.2. *Let $(u, v) \in C^1(\mathbb{R}^n) \times C^1(\mathbb{R}^n)$ be a pair of positive solutions of (1.1), then*

(2.5)

$$\begin{aligned} u_{x,\lambda}(y) - u(y) &= \int_{|z-x|\geq\lambda} K(x, \lambda, y, z) \\ &\times \left(f(u, v) - \left(\frac{\lambda}{|z - x|}\right)^{2n+\nu} f\left[\left(\frac{\lambda}{|z - x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z - x|}\right)^\nu v_{x,\lambda}\right] \right) dz \end{aligned}$$

and

(2.6)

$$\begin{aligned} v_{x,\lambda}(y) - v(y) &= \int_{|z-x|\geq\lambda} K(x, \lambda, y, z) \\ &\times \left(g(u, v) - \left(\frac{\lambda}{|z - x|}\right)^{2n+\nu} g\left[\left(\frac{\lambda}{|z - x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z - x|}\right)^\nu v_{x,\lambda}\right] \right) dz, \end{aligned}$$

where

$$(2.7) \quad K(x, \lambda, y, z) = \left(\frac{|y - x|}{\lambda}\right)^\nu |y^{x,\lambda} - z|^\nu - |y - z|^\nu$$

and $K(x, \lambda, y, z) > 0$ for any $|y - x| > \lambda, |z - x| > \lambda$.

Proof. We first show the proof of (2.5). By (1.1), we can write

$$\begin{aligned}
 u(y) &= \int_{|z-x|\geq\lambda} |y-z|^\nu f(u, v)(z) dz + \int_{|z-x|<\lambda} |y-z|^\nu f(u, v)(z) dz \\
 &= \int_{|z-x|\geq\lambda} |y-z|^\nu f(u, v)(z) dz \\
 (2.8) \quad &+ \left(\frac{|y-x|}{\lambda}\right)^\nu \int_{|z-x|\geq\lambda} |y^{x,\lambda} - z|^\nu \left(\frac{\lambda}{|z-x|}\right)^{2n+\nu} \\
 &\quad \times f\left[\left(\frac{\lambda}{|z-x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z-x|}\right)^\nu v_{x,\lambda}\right] dz.
 \end{aligned}$$

Then, we have

$$\begin{aligned}
 &u_{x,\lambda}(y) \\
 &= \left(\frac{|y-x|}{\lambda}\right)^\nu \int_{\mathbb{R}^n} |y^{x,\lambda} - z|^\nu f(u, v)(z) dz \\
 (2.9) \quad &= \left(\frac{|y-x|}{\lambda}\right)^\nu \int_{|z-x|\geq\lambda} |y^{x,\lambda} - z|^\nu f(u, v)(z) dz \\
 &+ \int_{|z-x|\geq\lambda} |y-z|^\nu \left(\frac{\lambda}{|z-x|}\right)^{2n+\nu} f\left[\left(\frac{\lambda}{|z-x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z-x|}\right)^\nu v_{x,\lambda}\right] dz.
 \end{aligned}$$

Combining (2.8) and (2.9), we have

$$\begin{aligned}
 &u_{x,\lambda}(y) - u(y) \\
 &= \int_{|z-x|\geq\lambda} \left[\left(\frac{|y-x|}{\lambda}\right)^\nu |y^{x,\lambda} - z|^\nu - |y-z|^\nu\right] f(u, v)(z) dz \\
 &+ \int_{|z-x|\geq\lambda} \left[|y-z|^\nu - \left(\frac{|y-x|}{\lambda}\right)^\nu |y^{x,\lambda} - z|^\nu\right] \left(\frac{\lambda}{|z-x|}\right)^{2n} \\
 &\quad \times f\left[\left(\frac{\lambda}{|z-x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z-x|}\right)^\nu v_{x,\lambda}\right] dz \\
 &= \int_{|z-x|\geq\lambda} K(x, \lambda, y, z) \left(f(u, v)(z) - \left(\frac{\lambda}{|z-x|}\right)^{2n+\nu} f\left[\left(\frac{\lambda}{|z-x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z-x|}\right)^\nu v_{x,\lambda}\right]\right) dz.
 \end{aligned}$$

Similarly, we can obtain

$$\begin{aligned}
 &v_{x,\lambda}(y) - v(y) \\
 &= \int_{|z-x|\geq\lambda} K(x, \lambda, y, z) \left(g(u, v)(z) - \left(\frac{\lambda}{|z-x|}\right)^{2n+\nu} g\left[\left(\frac{\lambda}{|z-x|}\right)^\nu u_{x,\lambda}, \left(\frac{\lambda}{|z-x|}\right)^\nu v_{x,\lambda}\right]\right) dz.
 \end{aligned}$$

Next, it suffices to show that $K(x, \lambda, y, z) > 0$ for $|y-x| > \lambda$ and $|z-x| > \lambda$. Without

loss of generality, we may assume $x = 0$. Therefore, we can write

$$\begin{aligned} K(0, \lambda, y, z) &= \left(\frac{|y|}{\lambda}\right)^\nu |y^{0,\lambda} - z|^\nu - |y - z|^\nu \\ &= \left(\lambda^2 - 2y \cdot z + \frac{|y|^2|z|^2}{\lambda^2}\right)^{v/2} - (|y|^2 - 2y \cdot z + |z|^2)^{v/2} \\ &= \left(|y|^2 - 2y \cdot z + |z|^2 + (|y|^2 - \lambda^2)\left(\frac{|z|^2}{\lambda^2} - 1\right)\right)^{v/2} - (|y|^2 - 2y \cdot z + |z|^2)^{v/2} \\ &> 0. \end{aligned}$$

Thus we accomplish the proof of Lemma 2.2. □

To prove Theorem 1.1, we also need the following two key lemmas.

Lemma 2.3. *For $n \geq 1, \nu > 0$, let $(u, v) \in C^1(\mathbb{R}^n) \times C^1(\mathbb{R}^n)$ be a pair of positive solutions of (1.1). Then for any $x \in \mathbb{R}^n$, there exists $\lambda_0(x) > 0$ such that*

$$(2.10) \quad u_{x,\lambda}(y) \geq u(y), \quad v_{x,\lambda}(y) \geq v(y), \quad \forall 0 < \lambda < \lambda_0(x), \quad |y - x| \geq \lambda.$$

Proof. Without loss of generality, we may assume $x = 0$. Since u and v are positive C^1 functions, there exists $s_0 > 0$ such that

$$\nabla_y(|y|^{-\nu/2}u(y)) \cdot y < 0, \quad \nabla_y(|y|^{-\nu/2}v(y)) \cdot y < 0, \quad \forall 0 < |y| < s_0.$$

Then, we have

$$(2.11) \quad u_{0,\lambda}(y) > u(y), \quad v_{0,\lambda}(y) > v(y), \quad \forall 0 < \lambda < |y| < s_0.$$

By (2.1), there exists C_{s_0} such that

$$u(y) \leq C_{s_0}|y|^\nu, \quad v(y) \leq C_{s_0}|y|^\nu, \quad \forall |y| \geq s_0.$$

Using (2.1) again, there also exists c_0 such that

$$\inf_{y \in B_{s_0}} u(y) \geq c_0 > 0, \quad \inf_{y \in B_{s_0}} v(y) \geq c_0 > 0.$$

Then, for small $\lambda_0 \in (0, s_0)$ and $0 < \lambda < \lambda_0$, we derive

$$(2.12) \quad u_{0,\lambda}(y) = \left(\frac{|y|}{\lambda}\right)^\nu u\left(\frac{\lambda^2 y}{|y|^2}\right) \geq \left(\frac{|y|}{\lambda_0}\right)^\nu \inf_{B_{s_0}} u \geq u(y), \quad \forall |y| \geq s_0$$

and

$$(2.13) \quad v_{0,\lambda}(y) = \left(\frac{|y|}{\lambda}\right)^\nu v\left(\frac{\lambda^2 y}{|y|^2}\right) \geq \left(\frac{|y|}{\lambda_0}\right)^\nu \inf_{B_{s_0}} v \geq v(y), \quad \forall |y| \geq s_0.$$

By (2.11), (2.12) and (2.13), we obtain (2.10). We then prove Lemma 2.3. □

For $x \in \mathbb{R}^n$, define

$$\bar{\lambda}(x) = \sup\{\mu \mid u_{x,\lambda}(y) \geq u(y), v_{x,\lambda}(y) \geq v(y), \forall 0 < \lambda < \mu, |y - x| \geq \lambda\}.$$

Lemma 2.4. For $n \geq 1$, let (u, v) be a pair of positive solutions of (1.1). Then for any $x \in \mathbb{R}^n$,

$$\bar{\lambda}(x) < \infty$$

and

$$(2.14) \quad u_{x,\bar{\lambda}} \equiv u, \quad v_{x,\bar{\lambda}} \equiv v.$$

Proof. We first show that $\bar{\lambda}(x) < \infty$. By the definition of $\bar{\lambda}(x)$, for any $0 < \lambda < \bar{\lambda}(x)$, we have

$$(2.15) \quad u_{x,\lambda}(y) \geq u(y), \quad v_{x,\lambda}(y) \geq v(y), \quad \forall |y - x| \geq \lambda.$$

Then, we can apply (2.15) and Lemma 2.1 to obtain that

$$\begin{aligned} 0 < \int_{\mathbb{R}^n} f(u, v)(z) dz &= \lim_{|y| \rightarrow \infty} |y|^{-\nu} u(y) \\ &\leq \lim_{|y| \rightarrow \infty} |y|^{-\nu} \left(\frac{|y - x|}{\lambda} \right)^\nu u \left(x + \frac{\lambda^2(y - x)}{|y - x|^2} \right) \\ &= \lambda^{-\nu} u(x). \end{aligned}$$

Thus $\bar{\lambda}(x) < \infty$ for all $x \in \mathbb{R}^n$.

Now we prove (2.14). Without loss of generality, we may assume $x = 0$ and we adopt the notation that $\bar{\lambda} = \bar{\lambda}(0)$, $u_\lambda = u_{0,\lambda}$ and $y^\lambda = y^{0,\lambda}$. It is easy to see that $u_{\bar{\lambda}} \geq u$ and $v_{\bar{\lambda}} \geq v$ for any $|y| \geq \bar{\lambda}$ by the definition of $\bar{\lambda}$. Then there are the following four cases:

- Case (i): $u_{\bar{\lambda}}(y) = u(y), v_{\bar{\lambda}}(y) = v(y)$,
- Case (ii): $u_{\bar{\lambda}}(y) > u(y), v_{\bar{\lambda}}(y) = v(y)$,
- Case (iii): $u_{\bar{\lambda}}(y) = u(y), v_{\bar{\lambda}}(y) > v(y)$,
- Case (iv): $u_{\bar{\lambda}}(y) > u(y), v_{\bar{\lambda}}(y) > v(y)$.

For Case (i), we are done. For Case (ii), since $g(s, t)$ is strictly decreasing in t for fixed s and strictly decreasing in s for fixed t . By (2.6) and $K(0, \bar{\lambda}, y, z) > 0$ for $|y| > \bar{\lambda}, |z| > \bar{\lambda}$, we have

$$0 = v_{\bar{\lambda}}(y) - v(y) \geq \int_{|z| \geq \bar{\lambda}} K(0, \bar{\lambda}, y, z) (g(u, v) - g(u_{\bar{\lambda}}, v_{\bar{\lambda}})) dz > 0.$$

This is a contradiction. Similarly, one can also show that Case (iii) is impossible by (2.5). Thus it suffices to show that Case (iv) is also impossible. We carry out the argument by

contradiction. Suppose that Case (iv) is valid, we will show that there exists $\varepsilon > 0$ such that

$$u_\lambda(y) \geq u(y), \quad v_\lambda(y) \geq v(y), \quad \forall \bar{\lambda} < \lambda < \bar{\lambda} + \varepsilon \text{ for } |y| > \lambda.$$

We only prove that

$$u_\lambda(y) \geq u(y), \quad \forall \bar{\lambda} < \lambda < \bar{\lambda} + \varepsilon \text{ for } |y| > \lambda.$$

By (2.5), with $x = 0$, $\lambda = \bar{\lambda}$ and the Fatou lemma, one can calculate

$$\begin{aligned} & \liminf_{|y| \rightarrow \infty} |y|^{-\nu} (u_{\bar{\lambda}}(y) - u(y)) \\ &= \liminf_{|y| \rightarrow \infty} |y|^{-\nu} \int_{|z| \geq \bar{\lambda}} K(0, \bar{\lambda}, y, z) \\ & \quad \times \left(f(u, v) - \left(\frac{\bar{\lambda}}{|z|} \right)^{2n+\nu} f \left[\left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu u_{x, \bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu v_{x, \bar{\lambda}} \right] \right) dz \end{aligned}$$

and

$$\begin{aligned} & \liminf_{|y| \rightarrow \infty} |y|^{-\nu} (v_{\bar{\lambda}}(y) - v(y)) \\ &= \liminf_{|y| \rightarrow \infty} |y|^{-\nu} \int_{|z| \geq \bar{\lambda}} K(0, \bar{\lambda}, y, z) \\ & \quad \times \left(g(u, v) - \left(\frac{\bar{\lambda}}{|z|} \right)^{2n+\nu} g \left[\left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu u_{x, \bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu v_{x, \bar{\lambda}} \right] \right) dz. \end{aligned}$$

Notice the fact $\left(\frac{\bar{\lambda}}{|z|}\right)^\nu u_{\bar{\lambda}} \leq u_{\bar{\lambda}}$ and $\left(\frac{\bar{\lambda}}{|z|}\right)^\nu v_{\bar{\lambda}} \leq v_{\bar{\lambda}}$. By the monotonicity of $f(s, t)$ and $g(s, t)$, it follows that

$$\left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu u_{\bar{\lambda}} \right)^{\kappa_1} \left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu v_{\bar{\lambda}} \right)^{\theta_1} f \left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu u_{\bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z|} \right)^\nu v_{\bar{\lambda}} \right) \leq f(u_{\bar{\lambda}}, v_{\bar{\lambda}}) u_{\bar{\lambda}}^{\kappa_1} v_{\bar{\lambda}}^{\theta_1}$$

and

$$\left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu u_{\bar{\lambda}} \right)^{\kappa_2} \left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu v_{\bar{\lambda}} \right)^{\theta_2} g \left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu u_{\bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z|} \right)^\nu v_{\bar{\lambda}} \right) \leq g(u_{\bar{\lambda}}, v_{\bar{\lambda}}) u_{\bar{\lambda}}^{\kappa_2} v_{\bar{\lambda}}^{\theta_2}.$$

Then we have

$$\left(\frac{\bar{\lambda}}{|z|} \right)^{2n+\nu} f \left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu u_{\bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z|} \right)^\nu v_{\bar{\lambda}} \right) \leq f(u_{\bar{\lambda}}, v_{\bar{\lambda}})$$

and

$$\left(\frac{\bar{\lambda}}{|z|} \right)^{2n+\nu} g \left(\left(\frac{\bar{\lambda}}{|z|} \right)^\nu u_{\bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z|} \right)^\nu v_{\bar{\lambda}} \right) \leq g(u_{\bar{\lambda}}, v_{\bar{\lambda}}).$$

Then it follows that

$$\liminf_{|y| \rightarrow \infty} |y|^{-\nu} (u_{\bar{\lambda}}(y) - u(y)) \geq \int_{|z| \geq \bar{\lambda}} \left(\left(\frac{|z|}{\bar{\lambda}} \right)^\nu - 1 \right) (f(u, v)(z) - f(u_{\bar{\lambda}}, v_{\bar{\lambda}})(z)) dz > 0$$

and

$$\liminf_{|y| \rightarrow \infty} |y|^{-\nu} (v_{\bar{\lambda}}(y) - v(y)) \geq \int_{|z| \geq \bar{\lambda}} \left(\left(\frac{|z|}{\bar{\lambda}} \right)^\nu - 1 \right) (g(u, v)(z) - f(u_{\bar{\lambda}}, v_{\bar{\lambda}})(z)) dz > 0.$$

Therefore, for any $|y| \geq \bar{\lambda} + 1$, there exists $\varepsilon_1 \in (0, 1)$ such that

$$u_{\bar{\lambda}}(y) - u(y) \geq \varepsilon_1 |y|^\nu, \quad v_{\bar{\lambda}}(y) - v(y) \geq \varepsilon_1 |y|^\nu.$$

We can use the continuity of u and v with respect to variable λ to obtain that

$$(2.16) \quad u_\lambda(y) - u(y) \geq \varepsilon_1 |y|^\nu + (u_\lambda(y) - u_{\bar{\lambda}}(y)) \geq \frac{\varepsilon_1}{2} |y|^\nu, \quad \forall |y| \geq \bar{\lambda} + 1, \bar{\lambda} \leq \lambda \leq \bar{\lambda} + \varepsilon_2$$

and

$$(2.17) \quad v_\lambda(y) - v(y) \geq \varepsilon_1 |y|^\nu + (v_\lambda(y) - v_{\bar{\lambda}}(y)) \geq \frac{\varepsilon_1}{2} |y|^\nu, \quad \forall |y| \geq \bar{\lambda} + 1, \bar{\lambda} \leq \lambda \leq \bar{\lambda} + \varepsilon_2$$

for sufficiently small $\varepsilon_2 > 0$. Thus, it suffices to verify that for $\lambda < |y| < \bar{\lambda} + 1$,

$$u_\lambda(y) \geq u(y), \quad \forall \bar{\lambda} < \lambda < \bar{\lambda} + \varepsilon.$$

By Lemma 2.2, we can write

$$(2.18) \quad \begin{aligned} & u_\lambda(y) - u(y) \\ &= \int_{|z| \geq \lambda} K(0, \lambda, y, z) \left(f(u, v)(z) - \left(\frac{\lambda}{|z|} \right)^{2n+\nu} f \left[\left(\frac{\lambda}{|z|} \right)^\nu u_\lambda, \left(\frac{\lambda}{|z|} \right)^\nu v_\lambda \right] \right) dz \\ &\geq \int_{\lambda \leq |z| \leq \bar{\lambda} + 1} K(0, \lambda, y, z) \left(f(u, v)(z) - \left(\frac{\lambda}{|z|} \right)^{2n+\nu} f \left[\left(\frac{\lambda}{|z|} \right)^\nu u_\lambda, \left(\frac{\lambda}{|z|} \right)^\nu v_\lambda \right] \right) dz \\ &\quad + \int_{\bar{\lambda} + 2 \leq |z| \leq \bar{\lambda} + 3} K(0, \lambda, y, z) \left(f(u, v)(z) - \left(\frac{\lambda}{|z|} \right)^{2n+\nu} f \left[\left(\frac{\lambda}{|z|} \right)^\nu u_\lambda, \left(\frac{\lambda}{|z|} \right)^\nu v_\lambda \right] \right) dz. \end{aligned}$$

By the monotonicity of $f(s, t)$ again, we obtain

$$\begin{aligned} u_\lambda(y) - u(y) &\geq \int_{\lambda \leq |z| \leq \bar{\lambda} + 1} K(0, \lambda, y, z) (f(u_{\bar{\lambda}}, v_{\bar{\lambda}}) - f(u_\lambda, v_\lambda)) dz \\ &\quad + \int_{\bar{\lambda} + 2 \leq |z| \leq \bar{\lambda} + 3} K(0, \lambda, y, z) (f(u, v) - f(u_\lambda, v_\lambda)) dz. \end{aligned}$$

For $\bar{\lambda} + 2 \leq |z| \leq \bar{\lambda} + 3$, in view of (2.16) and (2.17), one can apply the monotonicity of $f(s, t)$ for each variable s and t to obtain there exists $\delta_1 > 0$ dependent of $\bar{\lambda}$ such that

$$f(u, v) - f(u_\lambda, v_\lambda) > f(u, v) - f(u + \varepsilon_2(\bar{\lambda} + 2)^\nu, v + \varepsilon_2(\bar{\lambda} + 2)^\nu) \geq \delta_1.$$

By (2.7), for any $\bar{\lambda} \leq \lambda \leq |y| \leq \bar{\lambda} + 1$, and $\bar{\lambda} + 2 \leq |z| \leq \bar{\lambda} + 3$, there exist $\tilde{\delta}_2, \delta_2 > 0$ such that

$$\begin{aligned} K(0, \lambda, y, z) &= \left(\frac{|y|}{\lambda}\right)^\nu \left|\frac{\lambda^2 y}{|y|^2} - z\right|^\nu - |y - z|^\nu \\ &= \left(\left(\frac{|y|}{\lambda}\right)^2 \left|\frac{\lambda^2 y}{|y|^2} - z\right|^2\right)^{\nu/2} - (|y - z|^2)^{\nu/2} \\ (2.19) \quad &= \tilde{\delta}_2 \left(\left(\frac{|y|}{\lambda}\right)^2 \left|\frac{\lambda^2 y}{|y|^2} - z\right|^2 - |y - z|^2\right) \\ &\geq \delta_2(|y| - \lambda). \end{aligned}$$

For any $\bar{\lambda} \leq \lambda \leq \bar{\lambda} + \varepsilon$, and $\bar{\lambda} \leq \lambda \leq |z| \leq \bar{\lambda} + 1$, we can calculate directly

$$(2.20) \quad u_\lambda(z) - u_{\bar{\lambda}}(z) = \frac{|z|^\nu u\left(\frac{\lambda^2 z}{|z|^2}\right)}{\lambda^\nu \bar{\lambda}^\nu} (\bar{\lambda}^\nu - \lambda^\nu) + \left(\frac{|z|}{\lambda}\right)^\nu \nabla u(\xi_1) \cdot \left(\frac{\lambda^2 z}{|z|^2} - \frac{\bar{\lambda}^2 z}{|z|^2}\right)$$

and

$$(2.21) \quad v_\lambda(z) - v_{\bar{\lambda}}(z) = \frac{|z|^\nu v\left(\frac{\lambda^2 z}{|z|^2}\right)}{\lambda^\nu \bar{\lambda}^\nu} (\bar{\lambda}^\nu - \lambda^\nu) + \left(\frac{|z|}{\lambda}\right)^\nu \nabla v(\xi_2) \cdot \left(\frac{\lambda^2 z}{|z|^2} - \frac{\bar{\lambda}^2 z}{|z|^2}\right),$$

where

$$\xi_1, \xi_2 \in \left(\frac{\bar{\lambda}^2 z}{|z|^2}, \frac{\lambda^2 z}{|z|^2}\right).$$

Then combing (2.20), (2.21) and the continuity of $f(s, t)$, we derive that

$$(2.22) \quad |f(u_{\bar{\lambda}}, v_{\bar{\lambda}})(z) - f(u_\lambda, v_\lambda)(z)| \leq C\varepsilon.$$

For $\lambda \leq |y| \leq \bar{\lambda} + 1$, we have

$$\begin{aligned} \int_{\lambda \leq |z| \leq \bar{\lambda} + 1} K(0, \lambda, y, z) dz &= \int_{\lambda \leq |z| \leq \bar{\lambda} + 1} \left(\frac{|y|}{\lambda}\right)^\nu \left|\frac{\lambda^2 y}{|y|^2} - z\right|^\nu - |y - z|^\nu dz \\ (2.23) \quad &\leq \int_{\lambda \leq |z| \leq \bar{\lambda} + 1} \left(\frac{|y|}{\lambda}\right)^\nu \left|\frac{\lambda^2 y}{|y|^2} - z\right|^\nu - \left(\frac{|y|}{\lambda}\right)^\nu |y - z|^\nu dz \\ &\quad + \int_{\lambda \leq |z| \leq \bar{\lambda} + 1} \left(\frac{|y|}{\lambda}\right)^\nu |y - z|^\nu - |y - z|^\nu dz \\ &\leq C_2(|y| - \lambda). \end{aligned}$$

By (2.18), (2.19), (2.22) and (2.23), for sufficiently small $\varepsilon > 0$, we conclude that

$$u_\lambda(y) - u(y) \geq \left(\delta_1 \delta_2 \int_{\bar{\lambda}+2 \leq |z| \leq \bar{\lambda}+3} dz - C_1 C_2 \varepsilon \right) (|y| - \lambda) \geq 0.$$

Combining with (2.16) and (2.17), one can derive a contradiction with the definition of $\bar{\lambda}$. Then this completes the proof of Lemma 2.4. \square

The following key calculus lemma introduced by Li in [15] is needed to carry out the final proof of Theorem 1.1.

Lemma 2.5. *For $h \in C(\mathbb{R}^n)$, $n \geq 1$, $\nu \in \mathbb{R}$, suppose that for every $x \in \mathbb{R}^n$, there exists $\lambda(x) > 0$ such that*

$$\left(\frac{\lambda(x)}{|y-x|} \right)^\nu h \left(x + \frac{\lambda(x)^2(y-x)}{|y-x|^2} \right) = h(y), \quad \forall y \in \mathbb{R}^n \setminus \{x\}.$$

Then for some $c \geq 0$, $d > 0$, $x_0 \in \mathbb{R}^n$, $h(x) = \pm c(|x-x_0|^2 + d)^{\nu/2}$.

Proof of Theorem 1.1. In view of Lemmas 2.4 and 2.5, one can obtain that

$$u(x) = c_1(d + |x-x_0|^2)^{\nu/2}, \quad v(x) = c_2(d + |x-x_0|^2)^{\nu/2}$$

for some $x_0 \in \mathbb{R}^n$. By $u_{x,\bar{\lambda}}(y) = u(y)$ and $v_{x,\bar{\lambda}}(y) = v(y)$, one can write that

$$\begin{aligned} 0 &= u_{x,\bar{\lambda}}(y) - u(y) \\ &= \int_{|z-x| \geq \bar{\lambda}} K(x, \bar{\lambda}, y, z) \left(f(u, v) - \left(\frac{\bar{\lambda}}{|z-x|} \right)^{2n+\nu} f \left[\left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu u_{x,\bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu v_{x,\bar{\lambda}} \right] \right) dz \\ &\geq \int_{|z-x| \geq \bar{\lambda}} K(x, \bar{\lambda}, y, z) (f(u, v) - f(u_{x,\bar{\lambda}}, v_{x,\bar{\lambda}})) dz \\ &= 0 \end{aligned}$$

and

$$\begin{aligned} 0 &= v_{x,\bar{\lambda}}(y) - v(y) \\ &= \int_{|z-x| \geq \bar{\lambda}} K(x, \bar{\lambda}, y, z) \left(g(u, v) - \left(\frac{\bar{\lambda}}{|z-x|} \right)^{2n+\nu} g \left[\left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu u_{x,\bar{\lambda}}, \left(\frac{\bar{\lambda}}{|z-x|} \right)^\nu v_{x,\bar{\lambda}} \right] \right) dz \\ &\geq \int_{|z-x| \geq \bar{\lambda}} K(x, \bar{\lambda}, y, z) (g(u, v) - g(u_{x,\bar{\lambda}}, v_{x,\bar{\lambda}})) dz \\ &= 0. \end{aligned}$$

Then the above inequalities must be equalities. Therefore, there exist positive constants m, l such that $f(s, t) = ms^{-\kappa_1}t^{-\theta_1}$, $g(s, t) = ls^{-\kappa_2}t^{-\theta_2}$. This accomplishes the proof of Theorem 1.1. \square

References

- [1] W. Chen and C. Li, *An integral system and the Lane-Emden conjecture*, Discrete Contin. Dyn. Syst. **24** (2009), no. 4, 1167–1184.
- [2] W. Chen, C. Li and B. Ou, *Classification of solutions for a system of integral equations*, Comm. Partial Differential Equations **30** (2005), no. 1-3, 59–65.
- [3] ———, *Classification of solutions for an integral equation*, Comm. Pure Appl. Math. **59** (2006), no. 3, 330–343.
- [4] L. Chen, Z. Liu, G. Lu and C. Tao, *Reverse Stein-Weiss inequalities and existence of their extremal functions*, to appear in Trans. Amer. Math. Soc.
- [5] Y. S. Choi and X. Xu, *Nonlinear biharmonic equations with negative exponents*, J. Differential Equations **246** (2009), no. 1, 216–234.
- [6] J. Dou, Q. Guo and M. Zhu, *Subcritical approach to sharp Hardy-Littlewood-Sobolev type inequalities on the upper half space*, Adv. Math. **312** (2017), 1–45.
- [7] J. Dou, C. Qu and Y. Han, *Symmetry and nonexistence of positive solutions to an integral system with weighted functions*, Sci. China Math. **54** (2011), no. 4, 753–768.
- [8] J. Dou, F. Ren and J. Villavert, *Classification of positive solutions to a Lane-Emden type integral system with negative exponents*, Discrete Contin. Dyn. Syst. **36** (2016), no. 12, 6767–6780.
- [9] J. Dou and M. Zhu, *Reversed Hardy-Littlewood-Sobolev inequality*, Int. Math. Res. Not. IMRN **2015** (2015), no. 19, 9696–9726.
- [10] Z. Guo and J. Wei, *Liouville type results and regularity of the extremal solutions of biharmonic equation with negative exponents*, Discrete Contin. Dyn. Syst. **34** (2014), no. 6, 2561–2580.
- [11] Y. Han and M. Zhu, *Hardy-Littlewood-Sobolev inequalities on compact Riemannian manifolds and applications*, J. Differential Equations **260** (2016), no. 1, 1–25.
- [12] F. Hang, *On the integral systems related to Hardy-Littlewood-Sobolev inequality*, Math. Res. Lett. **14** (2007), no. 3, 373–383.
- [13] F. Hang, X. Wang and X. Yan, *Sharp integral inequalities for harmonic functions*, Comm. Pure Appl. Math. **61** (2008), no. 1, 54–95.

- [14] Y. Lei, *On the integral systems with negative exponents*, Discrete Contin. Dyn. Syst. **35** (2015), no. 3, 1039–1057.
- [15] Y. Li *Remark on some conformally invariant integral equations: the method of moving spheres*, J. Eur. Math. Soc. (JEMS) **6** (2004), no. 2, 153–180.
- [16] Y. Li and L. Zhang, *Liouville-type theorems and Harnack-type inequalities for semi-linear elliptic equations*, J. Anal. Math. **90** (2003), 27–87.
- [17] Y. Li and M. Zhu, *Uniqueness theorems through the method of moving spheres*, Duke Math. J. **80** (1995), no. 2, 383–417.
- [18] L. Ma and J. C. Wei, *Properties of positive solutions to an elliptic equation with negative exponent*, J. Funct. Anal. **254** (2008), no. 4, 1058–1087.
- [19] Q. A. Ngô and V. H. Nguyen, *Sharp reversed Hardy-Littlewood-Sobolev inequality on \mathbb{R}^n* , Israel J. Math. **220** (2017), no. 1, 189–223.
- [20] X. Xu, *Exact solutions of nonlinear conformally invariant integral equations in \mathbb{R}^3* , Adv. Math. **194** (2005), no. 2, 485–503.
- [21] ———, *Uniqueness theorem for integral equations and its application*, J. Funct. Anal. **247** (2007), no. 1, 95–109.
- [22] X. Yu *Liouville type theorems for integral equations and integral systems*, Calc. Var. Partial Differential Equations **46** (2013), no. 1-2, 75–95.

Zhao Liu

School of Mathematics and Computer Science, Jiangxi Science and Technology Normal University, Nanchang 330038, China

E-mail address: liuzhao2008tj@sina.com

Lu Chen and Xumin Wang

School of Mathematical Sciences, Beijing Normal University, Beijing 100875, China

E-mail address: luchen2015@mail.bnu.edu.cn, xuminwang@mail.bnu.edu.cn